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The figures in the margin indicate full marks.

Candidates are required to give their answer in their own words

as far as practicable.
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Section—|

Answer any three questions from the followings:
QA foq6 grga Teq nis

Name some properties, which makes laser light different from ordinary light.
Q3 5y CAMICER 1N AIS Al (wTers ARG e S (0P Sl 6|

2X3=6

Write down the differences between spontaneous emission and stimulated emission.

FOFES g9 @ Twif*® feaRel-aa Wy ALwy =19}

How holography is different from photography?
Folalr ¢ Feaifr-a dven 62

What is single mode and multimode fiber?
Single mode €32 multimode fiber &?

Why do we need population inversion in a laser?
ETSNCE A2 2o (F 7P 272

What do you mean by pulse dispersion?
= fasgaei(Pulse dispersion) JFCe F (@ITAN?

Write down some advantages of optical fiber cable over copper cable.
Copper (I St o pt i c al fiber (FIeT-9F HRY &fe1 Tz 4

What do you mean by meta-stable state?
Meta-stable state I=TC® 6 @1=i?

Mention (only) some pumping mechanisms adopted in laser.
TSR (F0a HIZ© [$3 pumping (NFIHEN-GF FI T
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Section 11
Answer any one from the followings: 5x1=5
@A @9 9F6 ATHT TeF whg,
What is three level laser? How does it differ from four level laser? 2+3=5

Q-8 (three level) ET&IF fF? @ &9 5I9-B@A( four level) FTEIET XS 339 ©HIR 2

Give qualitative idea of formation of a hologram. What are the virtual and real images in relation
to the reconstruction of the image from a hologram? 2+3=5

AN GF N0 AT R4S QA WG| AT TS CFCq 77 @ oo AfSReag qiae ws

How attenuation is defined in optical fiber? Mention different sources of losses in optical fiber.

2+3=5
QAR Fiber (FAEE (@ attenuation 9 ALH WG| @ (F@ AR F7-97 fqfeq
Teefers 71 Srad 9|

Section —I11

Answer any one question from the followings: 9x1=9
@ @ g6 AT Ted nig)

Discuss in detail the construction and working of any four level laser with suitable diagram.
4+5=9

@ @ G 5 TR GTEIEF AN T TR O 77 8 T A0 foapre fem St 411

Explain the basic principle of light guidance through the optical fiber with suitable ray

diagram.

Derive an expression for numerical aperture of an optical fiber. 4+5=9

Optical fiber @d Wy fFeItA light guidance ¥4 27 ©i7 IR I-B@ (ray diagram)
TRIICH @RS Optical fiber -5 aperture «F A adfedr F7)

Explain the role of Einstein’s co-effecients in lasing process. 9

TR [ CTR (@ SZIBIET &= (Einstein’s co-efficient) 767 Qi St 41




